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1. Whai volume would 3,00 moles of neon gas have at 285 K and 545 mmHg?

Ans:
2. What volume would 4.3 moles of hydrogen gas ococupy at 45°C and 3262 kPa?

Aris:
3. How much pressure would 485 moles of He gas exert in & 4,50 L tank al 55°C7

A
4. How mary moles of GO could itin a 475 mlL bag at -22°C and 855 mmHg?

Ans:
5. How many grams of cxygen gas are here in a 2.3 L tark af 7.5 atm and 24°C7F

LTS

&. How many molecules of My could fitin a 200 L soda botike at 23°C and 755 mmig?

T BN
7. What pressure woulkd be nesded 1o il 35.0 g of Mo gas into a 195 mil lask a10"C?

A
8, In order o have 1.00 mole of gas fitin a box thai measures 1.30 dm x 240 dm x 583 dm af 1.00
e, whal must he larmperatunes ba (in C)7 (1L = 7 amd)

Ans:

made that con hodd precisely 400 groms of He ol 1.05 aim and
x have to ba? {reemamber it's a cube 5o fake the cube oot of fhe volurre)
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Ana:
100 What volurme would be eocupled by 16.0 g of CHY al 0'C and 760 mmHg™T
{nodics Ba ot STET)

{eontinuad on next pegel)



